Subject: Re: Basic Array Subscripting Question
Posted by rjp23 on Fri, 01 Jun 2012 13:41:30 GMT

View Forum Message <> Reply to Message

On May 31, 12:25 pm, Heinz Stege <public.215....@arcor.de> wrote:
There is a third way which is very similar to your 2nd expression, but
returns the 2 by 2 array:

b=array[[412,413], [18,19], O]

>
>
>
> or
> Db=array[[412,413], [18,19], *]
>
>

Heinz

Ah that's why it was confusing me. That behaviour and the behaviour |
posted earlier don't seem consistent with each other, do they?
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